HIE

Ztﬁﬁﬁ—ﬂﬁ ]
Smm%ﬁ
8] ELZR N — T 2

A BN HRAT RS SHATTE
FREFRFEFBAR BB RE RS RA




N

27 ) LR K H

r 5l 4
P AR
S11-2
AFERESRE < CPEEBRRTE

> $]3-5
AT T R A
\ A 16-7

-5l Bl
R ELK— A TTE

FRIEEZPIN AT ESSHHE
> 418-10




1. P A 25 5

516 EEEEALFRF,
RE— M FHEERRMTA?

1. PR E LR E —AF1H;

2 =AAHEH RRE —AFIH;

3. P AT ESHRE—A-FH.
4, EEZEEFR—KR, BE—TTNH, TixERHS

1 T4 K77 R Al B Al —

AT

CL_EBR B 2 75 3\ 5 THE IR

5 AR R

PIE R A A ARFIE?

IH'U

R AR R ?




I RIER TR
ﬁnﬁ“: FFERE

, ﬁﬁiﬁﬂﬁﬂqﬁﬁﬁ
E’Jlﬂg‘ﬁ%

IESEIR
Eﬂ%ﬂ n={A, B,C},

‘ '3

FEH]

WH M

W:ils:

|\/|J.ﬁ2>|\/| M-=0

N HIE—
Mo (%01 Yo: Zo),
RN M(X,Y,2)




MM ={X—=Xo, Y= Y5, 225}

O AXX=X,)+B(Yy—-Y,)+C(z-2,)=0

SEFH B REAR SR

HaygmE n={A B,C}, B&EI& (X, Y, Z,).

- EH R

AW R LR, WA

hmd )

PRONTTRERI B

M LR, A

S _E

T RS

.




Bl 1 RiF=HKA2,~1,4). B(-1,3,-2)F

C(0,2,3) " FTH 572,

]

Bl 2 Rz /H(111), HEETPHEX-y+z=7H
3X+2y—-127+5=0FE HEE.




i1 kid=KA(2,-1,4). B(-1,3,-2)

C(0,2,3) i FTH H 2.
2  AB={-3,4,-6}
AC ={-2, 3-1}

B n=ABxAC ={14, 9,-1},
FrRFETEN 14(x-2)+9(y+1)-(z—4) =0,

B 14x+9y-2z-15=0.



_‘ﬁﬁﬂﬁy “&52—1 ﬂ.i:\_: M]_1 M21 M3E{){—:—':, M]_1 M21

M; AFEZL. Bl MM, x MM, 0.

NR-FEITEN: MM - (MM, x M{M3) =0,

EIJ X=X, Yy—W <4
X, =X M=W =4 |=0

X=Xy Vs—= )V, 43—

FHF =R TR




5=%5

0,0), 0(0,b,0), R(0,0,c)

P(a,
i, T R
Y 1?21 (a,b,c£0)
a b c
A FR P P EFE 5 R
. _ X—a Yy Z
shEAR=AR
-a 0 ¢

4 A VAl e |
2B —IT RS

82 (x—a)bc—y(—a)c+zab=0

Bl  bcx+acy+abz =abc




B2 kiF&(11,1), HEETFFEX-Yy+z2="7H

3X+2y—-127+5=0FE HTE.

# n={1-11, n,={32-12}
BkmEE n=n, xn,={10,15,5},
PR HE RN
10(x—-1)+15(y—-1)+5(z-1) =0,
WWHEH 2x+3y+z-6=0.




SRR —R TR

11T ) R T R
A(X=X,)+B(y—Y,)+C(z-2,)=0

= AX+ By+Cz|—(Ax0+ By,+Cz,)=0
=D

AX+By+Cz+ D=0 “FHF—KFGTE

BRE n={A B,C}



Ax+By+Cz+D=0 (A%2+B?*+C?%0)

(1) D=0,

(2) A=0, -«

(3) A=B

=0, F

ST —MROT R LA
FTHE
‘D=0,
D=0,

f

Y

52—1

52—4

FRTB L

Z,ﬁ::

FAA RS IR R

BT x B

Ry

24T T X R,

RMT e B=0, C=0 BE.

~X0Y APRII

K HET 8 A=C =0, B=C=0

:ﬂé.




& P — RS

#3 FBE THPFEHRIMERR, FIEHE
(D)x+y=4; (2)z=2.

Bl 4 HPEEESAKRN(6,-3,2), B5FMHE
Ax—y+2z:=8FH, REFHEIFE.

N

5 RPATFFEO6X+ y+62+5=015= 4
A T BT B A DU TR AR N — A B B T 5 2.




#I3 R THPFEIMNER S, FEHEE:

(1)x+y=4; (2)z=2.

B ()RR, L

x+y=4
M2 1‘;11,?3:_;2% 040
i /0 .
/(;,0,0)
(2) L= Z%TL ){_f"(o 0 Z)E‘ I(OOZ)
- SET / - /
FEH T 73K E j




Z1H

Bl 4 P
AX—-y+2z=8FH, Xt

i WPHEAN Ax+By+

iR R & R(6,—

3,2), H=
T RE.

Cz+ D=0,

FHEERF D=0,

PN R(6,-3,2) F

60A-3B+2C =0

- A1{4,-1,2}, -l4A

—-B+2C =0

:>A=B=—EC,
3

PISRPTHTREN  2X +

2y —3z2=0.




Bl5 K47

PH6X+ Y+ 62+ 5=015 =2k
s ) B BB e DY TH A4 R — A B T G 2.
S i T AT AT | ‘%
a b c
1 1
V=1, .- 5—\abc\ % .y
X
Frak-~F 5 B 5P 171
1 1 y
(FIRPATIMFRERSE - 2= 1b=6c,



1

FrsR-PH AFFEN 6X+y+62=16.




HATH BT EXF1h
BB 7. WA

N

ET B

N

S5 KT R R i

NEEESS

— UK, PR R A LT LA

R

/.

]

7.

N

i

Kﬂmﬂﬁ{

A

7.

PV ) — EUE T A A

SPAFE L. PR AR

[IEEE)

FHAZAEASTE B =Pk A A L2

- IR

HAEE



N PP fi&ﬁ -2 [B] B S A R 9 9~ THT )

e sy, Gl BB D
i, ﬁl IT,: AXx+B,y+C,z+ D, =0,
\% N AXx+B,y+C,z+ D, =0,

\</// ﬁ1={AuBl’C1};
L n,={A,,B,,C,},



ZRH M ERARZANE
|A@+BB+CC|

cos@ =

JAl + B, +C JAQ + B, +C
FPHE A RZ AN

P~ T iz B4R -
(1) IILIl,<=AA +BB,+CC,=0;
A _ B C




KRR 4




N

Ble wHFTLAT & B PP K

ﬁﬁa\%%:
(1) —x+2y—-z+1=0, y+3z—-1=0
(2) 2x—-y+z-1=0, —4x+2y—-2z-1=0
(3) 2x—y—z+1=0, —4X+2y+22—-2=0

Bl7 #wP,(X,, Y, Z,)&FHAX+By+Cz+ D=0
h—r, KRPEFHFFER.




N

ﬁﬁ%%:
(1) = x+2y—-z+1=0, y+3z-1=0
(2) 2x—y+z2-1=0, —4X+2y—-22—-1=0
(3) 2x—y—-2+1=0, —4AX+2y+22-2=0

Ble wHFTLAT & B PP K

|-1x0+2x1-1x3|
VD)2 4224 (1) V1P + 37

(1) cos@ =

1 - 1
cosf = — PP , 3 — =
760 PFEAHAS, 3248 0 = arccos o0



(2) n,={2,-11},
-1 1
- = — =

-4 2

i, ={-4,2,~2}

-M(1,1,0)ell, M(11,0)eIl,

Wj‘;

%

A

N




B7 &P, (X,, Y, 2,) & FHAX+By+Cz+ D=0

Sh—r, KPR PRI
2 VP (X, ¥y, 2,) €1l M
. I:)O
d=|Prj,PP|
. /o
Prj PP, =PP,-n° PN

—_

P, P, ={

Xo— X1 Yo — yl’ZO_Zl}



;5_{ A B C }
JAZ+B2+C2 A2+ B2+C2 A2+ B%2+C?2

s Prj P P—PP n’®

— A(XO_Xl) + B(yo_Y1) + C(Zo_z1)
JAZ+B2+C2 JAZ+B2+C?2 JAZ+B2+C2

_ AX,+ By, +Cz, —(AXx, + By, +Czl)
JA?+B?+C?




wAX +By,+Cz, + D=0

(P, €II)

— Ax,+By,+Cz,+D

- Pr PP, =
JnF1Fo JA2+BZ+C2
d=|AXO+ByO+Czo+D|.

JAZ + B2 +C?2

RE

VA

f

BEE A




1. FEELITES] B

516 BEEEAMHARE? IATHE —%ELR?

(1) FER— K ELE T LB BRI FHE IR

(2) E4 EEEW RFEL S — B E mEFAT;

@) E— N REE5— T EFREPFTREE——FKEEL.




=R EZ&H— T2

FEX =R ELk ] B R TH B AL £k
IT,: Ax+By+C,z+D, =0 Z
II,: Ax+B,y+C,z+D, =0

;A1x+ B,y+C,z+ D, =0 ‘

AX+B,y+C,z+ D2=O/o Y
THELK—RIGTE X




B L P 27 R R
- O?%/%yﬂh;




3. ZHRELKINRA T RS SRR

75 2 e s

MR —JEFREFTT L
—XCNEL, XNRER /g/
RIXZBELI 74 7 £. .

Mo(Xy, Yo, 2Z0),  M(X,Y,2), ; -y
VMel, |\/|O|\/|// g X

S={m,n, p}, MM={X-X,,y—V,,2—2,}



T Ty HAREKAE

m._ n P

'x=g:;::::%§%§ﬁ?ﬁﬁ
1Y = Yot Nl 77 | B BISRZARAN
\Z=Zo+ pt %‘%H‘ﬁiﬁé%%'?

L ZLHIZ R




Ui RS OATER, Ko THEBNF.

=m, n, pPA —A~ 908}, Hlinm =0

[ X=X,=0

W A RENEE AN y-y, -1,

. m p

Hm, n, pPFAE BN, B UIm=0,n=0

(X—X.=0
I 5 R N B RN - y y° )
Y™ Yo T







B8  HAXHRATELESEITERSES

%

X+ Yy+2+1=0

\

2X—y+3z+4=0

B9 KIEFRM, (X, ¥y, )M, (X,, ¥,, Z,)
RIE LR HTE.

10 —

¢

¢

it R A(2,-3,4), B yaE

32, RETGE.




B8  ANBMAFTEASE T ERTSEL

(X+Yy+z+1=0
<

2X—Yy+3z+4=0

B EES EER— (X Yo, Zo)
Yot+Z,+2=0
Y, —32,-6=0

ey, =0, z,=-2
RAEHR(1,0,-2),

HY Xo=1 =«




TR L 5 T 0 A

B s=nxn,={4-1-3},

x=1_y-0_z+2
XTR TR == .
X =1+ 4t
SHHRIy=—t
z=-2-3t

MEBEE. SRE&ZLE—R;
R EZHIT H .




H

ﬁﬂﬁ“%%*%ﬁﬁﬁmﬁéﬁﬁ,UME%

BARFRATREESEATTE, #lw

= -

\

[ 3Xx+2y-5=0
- y—3z-4=0

g

(x-1 y-1

3x—-3=-2y+2
 y—-1=32+3

(x=1+2t

2  _3 :jx—lzy—l z+1

y-1 2

—=12z+1
3

=—— =qy=1-3t
-3 -1
Lz:—i—t




@Jg *‘ﬁ:ﬁf\l—il\ﬂl(xl’ yl,z1)5FDM2(X2’ yZ’ZZ)

FIE LRI,

fE AT AP 5 1 T )
S=MM, = (X, =X, Y, = 1,2, - 2,)
BRI AR T RE P 0, 1 X 9 Y B 2R
RN X=X _ Y=Y _ L— 1

Xo=% Yo=Y 4,74

PR E LT R T FE.




1l ¢

10 —
A2, RETTHE.

2813 RA(2,-3,4), HM yHiFEEAM

B BEANES&AyY BEREAR,
FTPARE B B(0,-3, 0),
B s=BA ={2,0, 4},

R 2oVt
FIRELTTE 0o = 4




